Quadratic Test 1 REVIEW

1. Write the equation in standard form:

f(x) = -2(x - 4} + 5
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Simplify Each Product. Write your answer in
standard form.

x +3)(2x- 5)
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Simplify Each Product. Write your answer in
standard form.

(x+6)(x* - 4x+3)

X2 et 5

s 2 A >
Solution X + 9 XO)— X l‘)(\ + l *5




4.
Factor each expression and check your answer.
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Factor each expression and check your answer.

2X -12x+10
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6. Graph each function. Label the axis of
symmetry and the vertex.
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7. Graph each function. Label the axis of

symmetry and the vertex.
r=-3xF+6
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8. Graph the equation in your calculator.
Identify the vertex and axis of symmetry.
Identify a, h and k and describe how they
affect the parabola. Is the parabolaa
minimum or maximum?
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Vertex: ( Q#n_“ &3
Axis of Symmetry: X = g
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Sketch the graph here. Label the vertex and
axis of symmetry.

y=2(x-2)-2
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Identify the vertex and axis of symmetry for
each graph. Tell whether it's a minimum or a
maximum.
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10. Graph the equation in your calculator.
Identify the vertex and axis of symmetry.
Identify a, h and k and describe how they
affect the parabola. Is the parabolaa
minimum or maximum?
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Sketch the graph here. Label the vertex and
axis of symmetry.
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